Samlevejledning
Assembly Instructions

Bauanleitung CO.O
Montage handleiding Kios

FURNITURE

Art: 4201-1/4201-2

ccccccccccccccc



VIGTIGT! IMPORTANT! WICHTIG! BELANGRIJK! IMPORTANT! IMPORTANTE!

DK Far du starter. Laes venligst denne instruktion grundigt igennem og opbevar denne til evt senere brug. Serg for at plastikposer ikke kommer i sma
barns haender og veer sikker pa, at der ikke er sméa barn i naerheden, under montagen, da der er sméa dele i pakken.

UK Before you start. Please read instructions carefully and retain for future reference. Please dispose carefully of packing materials. Keep plastic
bags away from young children. Ensure young children are kept clear during assembly as this pack contains small parts.

D  Bevor Sie anfangen lesen Sie bitte die Bauanleitung sorgfaltig durch und bewahren Sie diese Anleitung auf. Versichern Sie sich, dass keine kleinen
Kinder in der Nahe Sind wéahrend Sie aufbauen weil die Verpackung kleinste Teile beinhaltet. Plastic Verpackungsteile daher bitte gleich wegwerfen.

NL Voordat u begint, lees a.u.b. de montage-instructie aandachtig door en bewaar deze zorgvuldig. Plastic verpakkingsmateriaal weghouden bij jonge
kinderen. Wees er zeker van dat tijdens het monteren van het bed de kinderen op veilige afstand zijn omdat de verpakking kleine onderdelen bevat.

F  Avant de commencer. Veuillez lire cette notice soigneusement et pensez a la garder pour une utilisation ultérieure. Veillez a ne pas laisser les sachets
plastiques accessibles aux enfants, et a éloigner les enfants pendant le montage car présence de petits objets dans les colis.

| Prima di iniziare. Si prega di leggere attentamente le istruzioni e di conservarle per un uso successivo. Tenere lontano dalla portata dei bambini il
pacchetto perché contiene piccole parti di assemblaggio e fare attenzione a non lasciarle in giro.

"

Art: 4200 A + 4201 B + 4200 C + 4201D-1/4201D-2
Colli: 4

404201-1
~~i5nn A~ - T s . - - - T A
104200 A 104201 B >

| = |l = |

| ® 0 | . ® — ° O |

| 123221 x 1 121154 x 8 121134 x 8 | | 12518 x 8 121134 x 16 121154 x 16 12326 x 1 12786 x 2 |

| 6mm M8 x 10mm Mexol4xissmm | | 210 x 60mm M8 x g14 x 15,5mm M8 x 10mm 4mm i
F———————

| —» | W e @W\“ > |

| | | 2465 12 121 4 8 12785 x 4 | HT335109 x 2

| 12518 x 24 121144 x 8 121164x8 || 121144 x8 A Ao X T b Tape 65 x 19mm

| 10 x 60mm M6 x 48,5mm M6 x 210,5x 18,5mm | | : |

| O 8 | | I D> | Q

‘\—\\\\“\

| e . g™ 0 |

| 12785 x 18 12462 x 32 12778PL x | | 121144-1 x 4 12316 x 2 12624 x 1 | 150075 x 1

L et oy Comsesmoos  oogseonm  12024XT CxLog, 203 2

6042003 X 2

6042012 X 4

6042001 X 2 284200B X 2 6042013 X 1

4200 C

M. Schack Engel A/S
Art: 4201-1/ 4201-2
26/11/2018/TC
Page: 2/9



4201D-1/4201D-2

4201D-1/4201D-2 X 1

O » <

121164 x 16 12322 x 1
M6 x 10,5 x 18,5mm 6mm
12322

121164

121164 o
famn
2142001 X 2 2142002 X 2
@ 121144 x 16
M6 x 48,5mm
121144 121164
121144 121144
I
121144 121144
o
. .
121144 X
i 121144
2142001 X 2 2142002 X 2

12518 x 24

210 x 60mm

6042002

M. Schack Engel A/S
Art: 4201-1/ 4201-2
26/11/2018/TC
Page: 3/9



6042002

6042003

6042002

121134 x 8
M8 x @14 x 15,5mm

121154 x 8
M8 x 10mm

121154

121134

121154

2142002

2142001

12465 x 12

24 x 40mm

12465

2842008

12518
Q

12624 x 1

12465

> 12518
O

(=]

12518 x 8

210 x 60mm

6042001

M. Schack Engel A/S
Art: 4201-1/ 4201-2
26/11/2018/TC
Page: 4/9



121134 x 8 121154 x 8
M8 x @14 x 15,5mm M8 x 10mm

121134

121154

121134

/

-
Y%

@ o
12785 x 8 12778PL x 4

@5mm

12785

< 12785 N
o[¢0

. 12778PL
12785
L Y
[Teo
~3
L~
12778PL
9\60
12785

/ ~
M. Schack Engel A/S

Art: 4201-1/ 4201-2
26/11/2018/TC
Page: 5/9




@ 12462 x 32 Q
@4 x 25mm

20| 12462

‘l 121144-1 x4 121134 x 4 121154 x 4

123221 x 1
@7x45x45mm, cc78 M8 x 14 x 15,5mm M8 x 10mm 6mm

6042012

6042012 X 4

=~

M. Schack Engel A/S
Art: 4201-1/ 4201-2
26/11/2018/TC
Page: 6/9




o =

12316 x 1 12786 x 1 12326x1

12786
6,3 x 80
e 6042011 12318
. /
6042012

4201D-1/4201D-2

o>
S nny
\ i
\—— T
Q‘

12316 x 1 12786 x 1
26,3 x 80mm

12316

12786

M4

M. Schack Engel A/S
Art: 4201-1/ 4201-2
26/11/2018/TC
Page: 7/9









	4201-01
	4201-1-02
	4201-1-03
	4201-1-04
	4201-1-05B
	4201-1-06
	4201-1-07
	4201-1-08
	4201-1-09



